PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
4th August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Who wrote “Shunyasiddhanta” / ‘W” forga ferar ur?
® Aryabhatta / 3md HE
® Varahamihira / m&rtﬁ?'
e Kautilya / ®ifeed
® Kalidasa / CIRIMHE]

Correct Answer :-Aryabhatta / 3TIYg

2)
Question Stimulus :-

Vamana Temple is located in ____./ dTH" 'Fl'ﬁ? _'EI' R %’
® Mandu/ 'FI'IT§
e Khajuraho / E\_{R'I_E?f
® Padavali / UgTaait
® Suhania / ﬁB'F'ﬂTIT

Correct Answer :-Khajuraho / Ge[RTe!
3)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, Tlﬂﬁ ql ugi & di= fedt
TR A $is Gay g] - fawe & I A@rar ue g~ e S ug & a1y S yeR &1 999 3|

EGIK:FILO:: FHIL:?

® JGMP

()



® IGPM

* GIMP

® GJPM
Correct Answer :-GIMP
4)

Question Stimulus :-

Which one of the following states does not have a railway station? / frafeRea Teal ° 9 foad Yad =er= qﬁ'
&

e sikkim / Rifewd

 Himachal Pradesh / [@HTId U=

¢ Jammu & Kashmir / Fl'ﬂi[-aﬂtﬂ?

° Nagaland/q"Tl'a?
Correct Answer :-Sikkim / Rifd®a
5)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁE
<l fau Y U= vd Al & 9 | 9gl 7

Statements: / ®Y:

Some dresses are not skirts. / $9 ao'q% e Hﬁ%’l
Some drinks are not dresses. / $© U4 ®US T8l &
Conclusions: / fwpd:

I. Some drinks are skirts / I. $9 U e &

II. Some dresses are drinks / II. $9 mﬂ'q%
® Only conclusion | follows / W foreed 1 fFreadn %
® Only conclusion Il follows /aﬁﬁ ﬁ'ﬁﬂf i fFreean %
® Both conclusion I and Il foIIows/E;ﬁ:I)f foreed 1 3R 11 e '%

® None of the conclusion | or Il follows / ffpf1arrda aﬁ's‘ 7-|'(ﬂ' rpear %
3)



Correct Answer :-Only conclusion i follows/aﬁﬂ' foreed 1| T %

6)
Question Stimulus :-

Following are the three positions of a cube. / g g &t = R %

Dice X Dice Dice Z
Which country name lies at the bottom face of dice X? / CaE k| a'-'lﬁ & ATH S X *» dd boe ) fRYd %?
® CHINA
® |TALY
® USA
® UK
Correct Answer :-UK
7)

Question Stimulus :-

Where is Asia’s largest mosque,’Taj-ul-Masjid’ situated? / E&NT CaR:Er:| a?ﬂ II'%IT:{ 'W—GFT—II%IT:{' W\TJ@R‘T %?
* Ujjain / IS
® Gwalior / qTeraR
® Bhopal / Hrard
® Jabalpur / STSCYR

Correct Answer :-Bhopal / HIUTd

8)

Question Stimulus :-

(4)



If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I
will have acidity. I have acidity so the bread was toasted. / gfe 98 $1 ae T wITaT 8
3R 3T W AT AT 16T § a6 a1 af § Y@ I8 S a1 g vhafed g st g9t vhafsdt 3
AT 98 &I e fpar T uTl

* True / gl

e False / TTdd

e Maybe / 331 Hbdl %

e Irrelevant / MRIfI®
Correct Answer :-Maybe / 8 I&dl &
9)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe ﬂﬁl’({,ﬁﬁ el i
| i fou e HY & qHH ¢

If you are carrying a suitcase, then you are going to the railway station. / 3R &HUW

fu € a1 eMu¥eld WY ST @ &1

e If you are not carrying a suitcase, then you are not going to the railway station. /

3R 3T Yebd 8l fore €, at My ¥ad WM 81 o1 W1 B

e If you are carrying a bag, then you are not going to the railway station. / iR 30

RT3 ¥ed e T ST R B

e If you are not going to the railway station, then you are not carrying a suitcase. /

3R 3ATY YA WM &l o1 78 §, a1 31U e a1 e &
* None of the above / maﬂéqﬁ

Correct Answer :-If you are not going to the railway station, then you are not

carrying a suitcase. /WWW@WH@TW@%’,H} Gﬂqwqﬁﬁm%l

10)
Question Stimulus :-

13t President of India is / WIRd & 139 TgUfer §

® Pratibha Devi Singh Patil/ UfaHT ¢4t Rig urfea

* A.P.J. Abdul Kalam/ QW .S, 3fegel Pard

® Pranab Mukherjee/ YOTq H@Vﬁ
(®)



® K.R.Narayanan/ &.3(R. ARTIUT
Correct Answer :-Pranab Mukherjee/ WOTS &SIt
11)

Question Stimulus :-

The capital of Gandhara was / TTT=IY &t IS A
® Taxila / T&RET
® Pataliputra / tnzt-?rgir
® Varanasi / IRTURAT
® Vaishali / RG]
Correct Answer :-Taxila / T&TRTeT
12)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& faeeu gﬁq,\‘:ﬁ qd DI G
AT WIS T :

If it is cool, then it is winter. / Of¢ 38 g, a1 Tdl gl
e If is not cool, then it is not winter. / 3R 38® 7&| g, a1 T T8I B
e If it is not cool, then it is winter. / 3FR $8& 8! &, a1 A<l 21
e If it is not winter, then it is not cool. / 3R T4 7] €, a1 $8& gl gl
e If it is winter, then it is cool. / 3R ¥l &, Al $S& ¢

Correct Answer :-If it is not winter, then it is not cool. /W'x‘lﬁ-‘-l‘apf%, H’fé@ﬁﬂﬁ%l

13)
Question Stimulus :-

Which of the following belongs to the same family as Lungs, Liver and Kidney? / fadd o9 sd tRear

Taifta € o % $wst, a9 ik ga?

® Heart / §qd

® Ears / DI

(6)



® Nose / AT

° Neck/'ﬂé’[

Correct Answer :-Heart / T

14)
Question Stimulus :-

A and B are planning to meet each other after office. A can leave office between 5:30 to 6:00 while B can leave office
only after 6:00. A takes 1 hour by bus or 30 mins by cab to reach the meeting point whereas B takes 30 min by bus and

15minbycabtoreachthesame./AGﬁ?’Bm%mwwﬁmﬁﬁmwaﬁl A 5:30 3R
6:00 T9 & 9 BT BIS HHdI ¢ Sd(P B Hdd 6:00 99 P dI¢ FIATAY BIS HHdl 2l A B! Tad
$?$§%ﬁﬁ 1 HeT TaT § a7 30f¥e TR § T € w1af® 8 P 30fie 79 ¥ iR 15RFe

l

A knows B will be leaving office at 6 but doesn’t know what conveyance will he be using. When should A start and
what conveyance should he choose such that he can start as late as possible and yet is not late for the meeting? / A

ST 8 31 B 6 Tl BTATAd U f1ea SR AT fora 18 1 ST 3T 3 SUS! udT 181 81 A Bl fopay
FHY fpe1 a1fgT 3R f5d are 4, 91 9 95 & 4 81 il 7 et IR e & RIM W &R |91 9 ugae

® 5:30,Bus /5:30, 9

5:30, Cab / 5:30, ¢RI

5:45, Cab / 5:45, ¢aRl

* 6:30, Cab / 6:30, CoRil

Correct Answer :-5:45, Cab / 5:45, ¢l

15)
Question Stimulus :-

In column I are listed certain groups of individuals while in column II are listed some
of the characteristics against each group of individuals which are common to each
member of that group. / WY I fafw safeara waEl < Ya owar 8,99 for w11 & afeal &
I 99 faivarsii @ g #a1 @ S 39 T4E & & U Yo & fore gy Bl

(7)



ColumnI | ColumnII
FHI] W
11K PT
I1LM SUwW
GHIKM RY
GHI QRV
FGI FR
HIJ QTW
11 QSUM
GIJ POS

Which characteristic are common to G and H but is not in M? / ﬁ?ﬁﬁﬁwﬁ G iR H A
I 8, Rd M # 812

°Q

e R

e S

B
Correct Answer :-Q
16)
Question Stimulus :-

Who was the first member of a Dravidian Party to hold the office of Chief Minister of Tamil Nadu? / §ﬁ3’ urdf &

Tgd U Heqd S 3, Y aftreqrg & gEadst g2
® Periyar / UfaR
® CN Annadurai/ ¥t @ Gﬁ'l?ﬁ'

® MG Ramchandra Menon / GH Sit AR 399

® M Karunanidhi / T SO
Correct Answer :-CN Annadurai / T T 3[ATgY
17)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the nhumbers to form
meaningful word. / Xl & ATTRRUT 3M&R I 3 T & U 3IeR B! G-Ifdbd fbar T 2| 98
fape gfa ot e 2eg @t v & o Wemsil & ©u § S1gRi BT gl %9 <1 g

(8)



ACESTH
123456

2,6,1,4,5,3

4,3,5,6,1,2

6,1,4,5,3,2

6,3,2,1,4,5

Correct Answer :-2,6,1,4,5,3
18)

Question Stimulus :-

In most Windows applications, Undo command is activated by pressing ./ GTGIdx ICEIE] Giﬂmﬂ"ﬁ ﬁ, g
QA3 3a A Afhd g 31

® Ctrl+A

e Ctri+S

o Ctr+Z

® Ctrl+U
Correct Answer :-Ctrl+Z
19)

Question Stimulus :-
Madhya Pradesh government announced a new award in 2015 for those working to stop violence against women.
This award is named after /ku%wwwﬁaqaﬁﬁ%?ﬁm?ﬁn%m&ﬁ%%ﬁm%maﬁﬂﬁm
P F §, 2015 A TP ¢ AR 3 N B NI ST RRBRBTATHE

e Nirbhaya / fA¥far

® Kalpana Chawla / U] dIdcll

® Aruna Shanbaug / 3 UIT TN

® Devi Ahilya Bai / 3d SifgeamaTs

Correct Answer :-Aruna Shanbaug / 3 U RTHART

20)
(9)



Question Stimulus :-

What is the day on 25th October 2045? / 25 3GgaX 2045 &I i AT f& 82
e Monday / 9IHAR
* Tuesday / HI@AR

* Wednesday / gYdR

® Thursday / T3dR

Correct Answer :-Wednesday / gYdi¥

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fove ﬂﬁE
S 3T T HyAY vd el & 9§ 98l g1

Statements: / ®Y:

Some aquas are octopus. / D T e iad %I

All octopuses are dangerous. / Tt Sifediuy WA &1
Conclusions: / faemd:

I. Some aquas are dangerous. / I. $9 U WaRATS %'I
II1. All octopuses are aquas. / II. I Sifaeiuy tlFﬁ%'I

® Only conclusion | follows / Faa e I APpadr %

® Only conclusion Il follows / Haa freed 1 e %

® Both conclusion | and Ii follows/ﬁ foreed 1 Gﬁ?' I1 ﬁfiﬁaﬁ %

® None of the conclusion | or Il follows / foreepd 1 a7 11 ® @ aﬁ% qﬁ IGEASGI %
Correct Answer :-Only conclusion I follows / Faa frpd 1 Headar %’
22)

Question Stimulus :-

1. Six flats on a floor in two rows facing north and south are allotted to P,Q,R,S,T and U. /

1. T HiSE WR IR 3R e ot 3R 31 ufal & o WPQ,RSTaﬁvuaﬁmﬁamnﬁ%

2. Q gets a north facing flat and is not next to S. / 2. Q P! 3R B! 3R FT Fic AAT IR T@S &
TTd ¥ 81 7

(10)



3. S and U get diagonally opposite flats. / 3. S 3R U 3 fawula mqﬁf i

4. R next to U gets a south facing flat and T gets north facing flat. / 4. R Sl U & & A< §,
I e Rz 3 SR &1 waie i 3R T &1 3R 31 3R arar weie frari

Which of the following combinations get south facing flat? / 9 o ¥ {9 daieH &1 gfgor R
&1 Wie e

e QTS

e UPT

e URP

¢ Data inadequate / YTt STeT
Correct Answer :-URP

23)

Question Stimulus :-

The Narmada and Tapti rivers flow westward and jointhe ___ ./ :I'ﬂT:;'T 3R dTwdt =Iﬁ'€|T uf 3 31 Gﬁ?a??ﬂ %Gﬁ?
__U=nfirasidt 81

® Bay of Bengal /Wﬁ @'Kfﬂ
® |ndian Ocean /%anaw

® Arabian Sea / 3IRd IR

® None of the above /sqﬁﬁaﬂéﬂﬁ%ﬁ

Correct Answer :-Arabian Sea / 3SRd IR

24)
Question Stimulus :-

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle
were in the group. There were two females. B, the mother of A got more points than
her husband. D got more points in the game than E but less than F. Niece of E got the
lowest points. Father of A got more points than F but still could not win the game. /9%

iR A,B,C,D,E 3R F T& IR &1 Wd Wd 38 41 998 A A & far, arar ok = A1 3 afgent §1 B,
A T HTAT DI U Ufd A & 3P ATYP U g1 W d D Fi E A 3HfUF W F § $H 3P W gul E &
Yiolt B TTA B 3i® U g¢I A & a1 &1 F I 31U 3 urwd g W e ff 98 Wa =gt ofta urd|

Who got the lowest points? / fFd Ta0 &Y 3@ UIwd §E?

°* A

(11)



Correct Answer :-A

25)

Question Stimulus :-

INS Chakra and INS Arihant are / TSUARY TP 3T AMSTACH 3If¥gd T &2

Submarines /W@%‘ﬁ
Aircraft Carriers / AIATH aTg® Uid

Patrol Vessels / Tl oliglivl

® Trainer Aircrafts/aq?m
Correct Answer :-Submarines /Uﬂ@%‘tﬁ'
26)
Question Stimulus :-

CANCELLED

Which one of these is not a classification of river systems of India? / 'Q"'Tﬁ Y DI AT HRd BI a4t HoTTferal &1
o =8 82

® Rivers of inland drainage basin / Gﬁ%&ﬂ'ﬂ o ﬁm'\tﬁ aﬁ? ﬁ H'ETIT
® Glacial river / %'FFI?[ :Eﬂ'
® (oastal river / ac T-I'cﬁ
® Deccan river / SFH A
Correct Answer :-
27)

Question Stimulus :-

The positions of how many digits in the number 321465987 will remain same when the
digits are arranged in ascending order? / TSI 321465987 ¥ fha+ i@l &1 WU I8t I8
3R §9 3P| DI ARTE! HH HIrRYT fHar T2

(12)



e Three / @9

e One /D
° Two/T:,Pf
° None/ﬁﬁiqﬁ

Correct Answer :-Three / 49

28)
Question Stimulus :-

won bronze medals in the 200 and 1600 metres races at the Special Olympics at Athens in 2011. / 2011 |

9 Iy ofeifie H 200 3R 1600 Fex Qs ® 3 oIy ug® il
® Sita Sahu / HlaT ATE
® Varsha Varman / 99T 99
® Harshita Tomar / BT AR
* Manisha Keer / H-ITGT BIX

Correct Answer :-Sita Sahu / Jtdl 91§

29)
Question Stimulus :-

The only team sport in which India has ever won an Olympic Gold Medal is / hﬁw‘éﬁ DI @ﬁ%ﬁm’ﬁ YRd A
P T St wWof ugs sitar @

® C(Cricket/ e

® Football / W’ﬁ

® Hockey / E"I%f%

® Volleyball / aTeiteTel

Correct Answer :-Hockey / 8!

30)
Question Stimulus :-

How is Alpha related to Beta if (1) Gamma told Theta that Phi is his father’s nephew. (2) Alpha is Gamma’s cousin but

not the brother of Phi. / ‘3[¢thl’ Cid '\ﬁﬁ'\‘iﬁﬁlﬁ%,qﬁ(l) AT A AT B garaT {6 W’ 39 fUar a1

(13)



YfISIT 1 (2) 3BT’ AITHT’ &1 TRT HTE § AfhT WY’ &1 HTS 181 2l

Sister / dg-
Niece / Heilolt
Nephew / Hd SIT
Cousin / TR HTS

Correct Answer :-Sister /9484

31)
Question Stimulus :-

Pong Dam is a venture undertaken jointly by which of the following groups of States? / gl T TH 3T A =

forT 7T Wigea w v A Fafafee % S o a1 T w1 I 82

® Andhra Pradesh, Madhya Pradesh and Orissa / 3y U%QT, HA H%QT 3R 3@'\“”

® Gujarat, Maharashtra and Rajasthan / J[SIRTd, HeIRTY 3R ISR

® Gujarat, Madhya Pradesh and Orissa / J[SIRTdl, H&I e 3T m

® Haryana, Punjab and Rajasthan / Eﬁ'qTUIT, USITE 37R ITSTRIT
Correct Answer :-Haryana, Punjab and Rajasthan / ST, GSIT 3R ISTRIT
32)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawey gﬁq,\‘:ﬁ Tb D eV
I Ty M H= & Ta 7 :

If it is cold, then you wear a sweater /WREE’%, ar GJTU@E'\'W?T%
e If it is not cold, then you won’t wear a sweater /GITR'o‘Ts’?é’f%, ar m@aﬁmﬁ%

e If you are not wearing a sweater, then it is not cold /WW@HT&TH@H@%} dds

T ]
e Ifitis cold, then you are not wearing a sweater /&I'l'l'{'o‘_s'%,?ﬁ 3Ty WX T8l UgA3e &

* None of the above / B"Qﬁ'dﬁ?ﬁi T{ﬂ

Correct Answer :-If you are not wearing a sweater, then it is not cold / 3TY 3T ez

T IR E A SsTE 8

(14)



33)
Question Stimulus :-

The Fundamental Rights have been incorporated in part of the Constitution / TfeTP STUBRY B

dfaea s e o wnfira forar ar g1
* VIIL/ 3TSd
o 11/ fEdta
o INI/Tdrd
o 1v/agd
Correct Answer :-11T / g

34)
Question Stimulus :-

Which of the States in India is referred to as ‘God’s own country’? / HIRd F I H Y P WA & 30
S & U H AT AT 82

® Goa /™Al
® Kerala/ W
® Tamil Nadu / T‘T&I?Fﬂg

® Uttar Pradesh / 3xI¥ II%-‘\’T

Correct Answer :-Kerala / 3

35)
Question Stimulus :-

Kailash Satyarthi received the Nobel Prize for his work in which one of the following fields? / frafafea E’aiﬁ |

3 fora & ¥ Sarsr gardf 9 T RIeR e fear?
* Literature / STgcd
* Peace / Tifd
e Physics / Hifaat
* Economics / 373=ITed

(15)



Correct Answer :-Peace / Tifd

36)
Question Stimulus :-

Six friends A,B,C,D,E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. /38 i3 A,B,C,D,E 3R F Fg FI 3R q49
U gudc W A IS TIEDF T IR BIC, AR BFTTHBIFENR AT TTA 21

Who is sitting second to the right of C? /C ¥ arfeq ok §'\‘I§' 9 § B9 907 82
B
* D
* F
°* A
Correct Answer :-F
37)
Question Stimulus :-

The civil disobedience movement was launched by / afeg STOIIT Gﬂ'c,ﬁaqula?m ‘{Raﬁ'ﬂﬂ T 1
® Bala Gangadhar Tilak / T TMER foae
® Mahatma Gandhi / HGIHT ieh
® Jawaharlal Nehru/\_rl'a'l_a?'ﬁ'ﬁfefgqK
® Sardar Patel / TR GIRY ued

Correct Answer :-Mahatma Gandhi / H8THT LT

38)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different. Choose the odd one out. / g uy fr,

%W%wﬁﬁﬂﬁ%,ﬁmﬁ,mwaﬁﬁw,wﬁmwwél fqus arat &1
|

e H

°*Q

(16)



e T

° 7
Correct Answer :-Q
39)

Question Stimulus :-

The national fruit of India is / HIRd I ?T@'q Td %
e Apple/ L]

® Mango / 3TH
* Banana/ %dl

® Jackfruit / Pced

Correct Answer :-Mango / 3H

40)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁﬂ!
St f3T T Sy wd el F IR # 9 R

Statements: / DYH:

All instruments are measuring devices / T4 IUST AU & IF &
All tapes are instruments / Tt 2u @W%

Conclusions: / e

I. All instruments are tapes / 1. I IusRT U %

II. All tapes are measuring devices / IIL. 94t SU AR & T §
® Only conclusion | follows / Fad ey 1 Meaar %
® Only conclusion Il foIIows/W foreed 1 frear %
® Both conclusion land Il follows/EﬁTﬁ e 1 Gﬁ?' I frped %

® None of the conclusion | or Il follows / forepd 1 a7 11 ® 3 Hﬁ'sf =|€f Freear %
Correct Answer :-Only conclusion I follows / Fad freed 1 freadar %

(17)



Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

The ratio of the length of a park to its width is 5:3.What is the length if the width is 42 meters? / ﬁaﬂ Al FI'ITSITS: q

IAD! TISTs BT U 5:3 ¢| afe s 42 i 8, O T 1 32
® 70 meters/ 70 1}
® 118 meters / 118
® 124 meters / 124 Hi
® 140 meters / 140 |
Correct Answer :-70 meters/ 70 i
2)

Question Stimulus :-

When digits of a two digit number are reversed its value gets lowered by 9. If the sum of the two digits is 15, then one of the
digits in this number is / ST9 QI 3/ B WWIT & DI I SSHIAT BT ST §, T ITST AF 9 I UC TMal 31 alg
Sl 3fp PTANT 15 8, A 59 BT & 3P| # J TP 3ih @

Correct Answer :-7

3)
Question Stimulus :-

Complete the following sequence of figures/ 3THadl & 1 HH B T Biford:

k\\ﬂ’\\\Q
]
T
=
2

DN

(18)



=
AN

=)
AN

k&\}\i‘

=
AN

Correct Answer :-

4)
Question Stimulus :-

A is thrice as good a workman as B and together, they finish a work in 18 days. In how many days will B alone finish

the same work? / A B 3U&T TF AT SgaR HTH HA AT FRIR 8 3R I I § F B 18 - & [T
g1 B W $ I 3Fpd fFan A1 o g1 Hwm?

72 days / 72 fea

60 days / 60 fa

66 days / 66 fa-T

70 days / 70 fo=
Correct Answer :-72 days / 72 &9
5)

Question Stimulus :-

A man is standing on a platform which is 180 m long. He finds that a train crosses the platform in 20 seconds but himself in 8
sec. What is the speed of the train?/ U@ 3MTGH! T ¥d Jd TR WeT &, Sl 180 T &aT 81 37 TR % 391 qa ) UR
B | 20 TS 3R IY UR A | 8 PHS Al 81 37 P IIfd T 82

® 54 km/hr/ 54 fopHI/Eer
(19)



® 45 km/hr/ 45 fpHi/deT
e 60 km /hr/ 60 fHHI/deT

e 66 km / hr/ 66 feHl/ger
Correct Answer :-54 km/hr/ 54 foeei/ger
6)

Question Stimulus :-
Pramod scores an average of 60% in an examination consisting of 15 papers. He has
scored only 40% average in five of thgm. What is thg average scored in the remaining
papers? / UHIG 9 15 UURI 910l Top Ual # T 60% 3% YT [P I8 4 5 § I8 31¥dq 40%
3@ g T frd| a1fp o2 AuRY o ST Siivid i T °2

® 70%

* 80%

® 100%

e 65%
Correct Answer :-70%
7)
Question Stimulus :-

Two dice are thrown simultaneously. What is the probability that the first die has 4? / a‘ruﬁwmﬁwél UE?I
T IR 4 =T AT BT UG T R?

°* 1/3

* 12

e« 1/6

° 1/9
Correct Answer :-1/6
8)

Question Stimulus :-

In the following questipn, one term in the number series is wrong. Find out the wrong
term. / 919 Uy ¥, I@1 49 # TP U< Tod §] TAd UG WA BIoA|

(20)



90,66,45,28,15,6,1

® 45

* 28

® 90

® 6
Correct Answer :-90
9)

Question Stimulus :-

The word POPULAR is coded as POPURAL and BOARDED as AOBRDED. Using the
same code, write CURTAIN. / U& Hibfd® HINT HT TR $3d 5T WG POPULAR HT POPURAL
% 7§ Td BOARDED &I AOBRDED & ®U ¥ forar 141 §| WHN Ward &7 W4T H3d §¢ CURTAIN
ford|

CURTNIA
® RUCTAIN

RUCTNIA

RUCTNAI

Correct Answer :-RUCTNIA

10)

Question Stimulus :-

3
A lamp post has half of its length in mud, of its length in water & the remaining of m

above the water. Find the whole length of the post. / T® aW URke @1 31t wwarg gt & &, 9%

1
3l

| TLr i (M GRS NP NP § S

(IS S
(S} Ry

* 40

e 30

e 20

e 10

(21)



Correct Answer :-20

11)
Question Stimulus :-

In a code, FIDELITY written as HOGINOWY. How is CALAMITY written in that code? / T Hord H, FIDELITY P

HOGINOWY forad &1 St Tdbd | cALAMITY BT 5 fardw?
* FENEPOWB
* FENOPOWY
e FANAPOWY
e FENEPOWY
Correct Answer :-FENEPOWY

12)

Question Stimulus :-

A and B walk around a circular field. They start at 7 am from the same point in opposite directions. A and B walk at a speed
of 4 rounds per hour and 6 rounds per hour respectively. How many time shall they cross each other at 8 am?/ A Gﬁ?' BUE®D

JEIPR HgM & TdPhR T 2. 3 Jag 7 991 T ¢ fog & faudia fRznsei & ga=1 & #3a €1 A 3R B HH: 4
TFDHR Ui U 3R 6 TP Ul ¢ B 7 A T § | g 8 T fra~1l IR 4 TP goR DI IR B2

* 3
e 12
e 10
e 15

Correct Answer :-10

13)
Question Stimulus :-

The series given below contains a sequence of alphabets, numbers and symbols. Identify

the incorrect combination: / 12 € T STaT 3ieR} T AT BT SHH WA Hdl 8] Tad WAl
SRR D]

(i) A$YSD302N-iR

(ii) A$YS8D302N-iR

(22)



(iii) A$YSD302N-iR

(iv) A$YSD302N-iR

® i

® ii

® v
Correct Answer :-iii
14)

Question Stimulus :-

(801/9+1)/[30x(3/5)]+2-(435/3)+(100/4)=?
e -162
e =140
e -113
* .115
Correct Answer :--113

15)
Question Stimulus :-
Complete the series choosing the missing number: / AW TWAT DR SGAT BT TR HIfoQ :

4,6,12,14,28,30,
° 32
® 60
°* 62
* 64
Correct Answer :-60

16)

Question Stimulus :-
(23)



What is the average of first 12 multiples of 15? / 15 o) tl%ﬁ 12 EIE'{[Uﬁ BT 3ad HTIT%?
® 97.5
* 97
® 96
® 96.5
Correct Answer :-97.5

17)
Question Stimulus :-

Out of 200 students in a school, 140 play cricket, 80 play tennis and 20 neither play cricket
nor tennis. The percentage of students who play both is/ fdeaa # 200 &1 § ¥, 140 PP
Werd €, 80 ¢ Werd € Sk 20 A7 @t fbde Qad & 71 €1 21 S Qe Wad e sl @t wiawradr &

* 5%

® 15%

* 10%

® 20%
Correct Answer :-10%
18)

Question Stimulus :-

If 35796 is coded as 44887, how will 46823 be coded as? / df¢ 35796 $I 44887 A difed
T ST 8, 9 46823 &1 HY FIfSd fhar SA?

e 54914
e 57914
« 55914
e 55934
Correct Answer :-55914

19)
Question Stimulus :-

(24)



How many squares are there in the figure below? / o GFIT% H fraq o°f %'?

AN
/

NS

NS

Correct Answer :-3

20)
Question Stimulus :-

The price of a product is increased by 30% and its sales reduced by 25%. What was the effect on the total revenue/
IATE B DT A 30% g BT AT 7 iR ITAP! fIBY 25% FH F= &l w1t 31 3TN B a1el T 3MA W
T YHTd UST?

® Increased by 2.5%/ 2.5% aﬁ

e Decreased by 5%/ 5% uct

® Decreased by 2.5%/ 2.5% L}

® Increases by 5%/ 5% aro?r
Correct Answer :-Decreased by 2.5%/ 2.5% g}
21)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ 3I&R AR dQal | T DI :

_cdc_bdb_b_dc_b

(25)



® dccdb
® pdcdc
® bdddc
® bdccd
Correct Answer :-bdccd

22)

Question Stimulus :-

A shopkeeper gives 2 successive discounts of 15% & 10% on the marked price of an article, if the actual
selling price is Rs. 15300 then calculate the list price? / T gHTGR TP avg & ff2d Tea ¥ 15% 3R 10%
P 2 TAR e a1 81 TS 3T o 1 fIh! Yo 15300 T g d) ITS JfI Yo BT Ul B

®* Rs. 40,000 /344 40,000
® Rs. 30,000 /%44 30,000
® Rs. 20,000 /%4¢ 20,000
® Rs.10,000/3%UY 10,000

Correct Answer :-Rs. 20,000 / ¥UT 20,000

23)
Question Stimulus :-

If ABCDEF is coded as ZYXWVU then what will be the code for APPLE? / Tfe¢ ABCDEF @I zyxwvu ¥ Pifed fvar Sim g,

df AppLE & TorI &RIT BYs BT
e« BQQMF
e OVVKZ
o ZKKOV
e KZZVO

Correct Answer :-ZKKOV

24)

Question Stimulus :-

A shopkeeper blends two varieties of tea costing Rs.18 & 13 per kg in ratio of 6:4.He sells the blended
variety for Rs. 20per kg. What is profit in the transaction? / T wa’r%m‘rﬁmmﬁrw 63MR4F

(26)



3T § Hal & orTd anTd 9o 18 $UT 3R 13 $UT Ui fareit 81 98 20 30 ufa fa @ fafda sy San 31
3T 9e H AT |1 87

* 20%

® 25%

* 30%

® 35%
Correct Answer :-25%
25)

Question Stimulus :-

In how many ways can we select 4 digits from the set of digits 4,3,2,6 and 9? / fraa e A T 3@ 4,3,2,6 3R 9
F TT T 4 3P| BT TUT H IPHd 82

Correct Answer :-5

26)
Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / Fouy &

forg & fiwen §| W arer gfi)

i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ WW% ‘Dogs are barking’
il. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ W'ﬂ?ﬁﬁ’% ‘Dogs and Horses’

ifi. '‘Mut Tom Ko’ means ‘Donkeys are mad’ / *‘Mut Tom Ko’ PT AIAS & *‘Donkeys are mad’

Which of the following encryption is used for ‘Dogs’? / A9 & & &9 &1

TfSPURM ‘Dogs’ & oI WA garm 82

(27)



® Tom

® Kun

® Sud

* Ko
Correct Answer :-Kun
27)

Question Stimulus :-

X, 5 and 7,1 are in proportion. What is the value of x? / x, 5 3T 7,1 w:naqmﬁ'%'l X BT HIH
w7 8?2

® 35
® 45
* 30
* 40

Correct Answer :-35

28)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 9 23 T IR Ui & ¥ 9 A T 1a & i I9H o9 91 TP 2l 22

Perry, Ann & Gowins, Karen
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

(i) Perry, Ann & Gowins, Karen
Birmingham Canoe Club
P.O. Box 951

(28)



Birmingham, Alabama 35201

(205) 934-7972

(ii) Perry, Ann & Gowins, Karan
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

(iii) Perry, Ann & Gowins, Karen
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

(iv) Perry, Ann & Gowins, Karen
Birmingham Canoe Club

P.O. Box 951

Birmingham, Alabama 35201

(205) 934-7972

* i

® jv
Correct Answer :-ii
29)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqW 31&R TAHT 4TAT B TR IO :

(29)



a_aa_cbb_ab _ _cc_bc
® abbcca
® aabbcc
® bbccaa
® ccaabb
Correct Answer :-abbcca
30)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBIT TAHY T BT T BIOT :

4,7,11,18,29,47, ___ ,123,199
° 85
® 76
* 69
* 381
Correct Answer :-76

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Identify the CORRECT statement / ?I'Ewpf HYF Bl tl'é'?l'lﬁﬂ!

® |tis possible to predict the time and place of the occurrence of earthquakes / ?ﬁq & gfeq Eﬁﬁ F WM 3R

THY BT YaigaT H4d 8

® Most earthquakes are caused by underground nuclear explosion / Sftpar ‘lﬁq Hﬁl'ﬂ?l Tfyeiy faawie
& BIRUT IS B &

® Richter scale is not a linear scale / e ﬁ'FI'F-lT Ercip) aTI'F-lT =r59f %
® Richter scale was developed in the year 2005 /ﬁw TuTT 99 2005 # fawfia BT UT
Correct Answer :-Richter scale is not a linear scale / fraeT uTT Y& 9|TT Tl %

2)

(30)



Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / % daifereT weam 7 T Hel
10 T Ui B GRT U 3P @i 71 U HIS T3 BRI HT SUANT B 19 Jaral & oae ¢

Class VIl / Class VIII / | Class XI/ | Class X/
Student / ST FE 7 e 8 FAT11 | e 10
Mahesh / #ger 65.5 70.8 68.2 75.4
Thomas / «ffas 60.4 68.3 72.2 70.4
Anand / =g 70.8 65.7 69.4 73.5
Sunil / eirer 80.1 74.6 79.4 86.5
Preety / difer 78.4 75.5 80.0 77.7

Which student got the lowest marks amongst all the five students in at least two of the classes? /m B B HH q FH

& wemaft A Tt uiw wEl F Ta@ FH 3% A 72
® Mahesh / HGYI
» Thomas / ¥i\a
® Anand/ 3H¢
* sunil/gAIA

Correct Answer :-Thomas / 4199
3)
Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / o aiftreT wem 7 3 wan
10 % Ui BT gRT YT 3P @it 81 SUAs SIS TS FIHGRI &1 SUIRT B 19 Jaral & oad ¢

(31)



Class VIl / Class VIII/ | Class XI/ | Class X/
Student / ST FeIT 7 AT 8 FET11 | FET10
Mahesh / #g2r 65.5 70.8 65.2 75.4
Thomas / «IT#% 60.4 69.3 72.2 70.4
Anand / 37Teig 70.8 65.7 69.4 73.5
Sunil / grer 80.1 74.6 79.4 36.5
Preety / difer 78.4 75.5 80.0 77.7

Which student got the lowest average marks in all the classes? / g o= o1 9t Fensi § Ie9 FH 3Nud i fra

72
® Mahesh / HRSI
» Thomas / ¥mH
* Sunil /g
® Ppreety / Wifd
Correct Answer :-Thomas / g
4)
Question Stimulus :-

Carbohydrates, proteins, fats, vitamins and minerals are major components of
:,g-:r)d and tl%ese are called as / W & Y& Uc® PEEHRSE, UIKH, T, fdeifam dur @fw g
Y HEdd ¢

® Dependent food. / AR @
® Food mostly prepared by plants. / 3iftrpaz el gRT e @mer
® The nutrients. /thW ddd
® The raw food materials. /ﬁ «re] UETQf
Correct Answer :-The nutrients. / TIU® dd
5)
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Question Stimulus :-

The tiny openings in the leaves that allow them to breath is called / i W Bie fog s 3% Jqg o

Y AT Td T FgaTd 82
® Lenticels / LEEG
* Stomata / ¥Y
e Chloroplasts / FARIERE

® Guard cells / Y& CAL

Correct Answer :-Stomata /3%

6)
Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / o arfereT wem 7 9 e
10 9% U S gRT UTW 3 ] €1 Iuaet HI5 S SFPRI BT IYINT B (Y Jard] & Sa19 31

Class VIl / Class VIII/ | Class XI/ | Class X/
Student / ST FeT 7 FeT 8 FeT 11 | FET10
Mahesh / #gar 65.5 70.8 68.2 75.4
Thomas / 91w 60.4 68.3 702 70.4
Anand / 3iTeig 70.8 65.7 69.4 73.5
Sunil / Firer 80.1 74.6 70.4 86.5
Presty / 9ifa 78.4 755 80.0 77.7

Which student got the highest average marks in all the classes? / g o= & ol G‘T&I'I'S-ﬁ H I=ad iad 3 foret

82

Mahesh /'FI%'-'ZT

Thomas / Qﬁﬁ:lﬂ'

Anand / I I

sunil / g
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Correct Answer :-sunil / gla

7)
Question Stimulus :-
xP-at=

o (x-a) (¥*+d?)
* (x-a)(x+a) (x*+a?)
o (x®+a?) (X +d?

* (x—a)(x*+a’)
Correct Answer :-(x—a) (x +a) (x> + a?)
8)
Question Stimulus :-

An amount of Rs. 2,430 is divided among A, B and C such that if their shares be reduced by Rs. 5, Rs. 10 and Rs. 15,
respectively, the remainders shall be in the ratio 3:4:5. The share of Bis: / 2,430 & Y AR A,BTdC x| e YhR
fawifora 1 it % afe 3919 i & I wHR: 5 F, 10 T UG 15 ¥ Y[ 91T, d9 XY &1 3Ud 3:4:5
BRITI B &7 3i §:

® Rs.790

® Rs. 800

® Rs. 608

® Rs. 810
Correct Answer :-Rs. 810
9)

Question Stimulus :-

If 5725 * 2550 * 125 = 5X then x is / fg 5725 * 2550 * 125 = 5X qf x
gl
® 78
* 75
* 28
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e 72
Correct Answer :-78
10)

Question Stimulus :-

The precaution to be taken while using a clinical thermometer / Y& AeifFe yufiier &1 v Fvd gy forar
I qTelT Tefard B :

® It should be washed before and after use / S UIRT & UgH U4 gI¢ AT IA1RY

e Ensure that the mercury level is below 35°C before use. / gfFfia &%
% T F31 A UEd URT W 35°C AR @

e Reading should be done at eye level / U3 3@ & TR R forar ST A1fgw
® All of the above / STRIGd T

Correct Answer :-All of the above / SURIaT I

11)
Question Stimulus :-

Which type of soil is best suited for Lotus plants? / SHd & Uit & o @14 Wt g G99 RTeT UG &2
 Loamy soil / gudiwgar
 Clayey soil / guaggar
* Normal soil / HTHTI T
e Silt / T
Correct Answer :-Clayey soil / 9uag g1

12)
Question Stimulus :-

The C.P of an article is 40% of the S.P. The percent that the S.P is of C.P is: / U d¥d &I
- (C.P.) faa gea (S.P.) &1 40% &1 91 ufizia s fawa g, H9-0e 37 8:

® 240
® 40

® 250
(35)



® 60
Correct Answer :-250
13)

Question Stimulus :-

Fossil Fuels are / SHATRH S gl g

® Renewable & inexhaustible /Hﬁhﬂ'ﬂﬂﬂ 3R 3[&™

® Non-Renewable & inexhaustible / 3FdIHIUNY 3R A&

* Renewable & exhaustible / TdHUIT 3fR &

* Non Renewable & exhaustible / 3FEHRUNT 3iR &/
Correct Answer :-Non Renewable & exhaustible/GHWUﬁTf 3R &g
14)

Question Stimulus :-

The pH of acid rain is / 3rd auf ®TpH &
e 4
o 7
e 9
.« 2
Correct Answer :-4

15)
Question Stimulus :-

If the radius of a circle is 5 cm, the diameter is ./ tlﬁ' TP qd &1 Bear 5 I+t % a SIDT AT
gl

2.5 cm / 2.5 9Ht

5cm /53

10 cm / 10 9

7.5 cm / 7.5 9Ht
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Correct Answer :-10 cm / 10 9#}

16)
Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / g arfereT wem 7 9 Pen
10 9% Ui BE gRT UTW 3% fGEmdl 81 Iuas 0 TS PRI BT IUANT B Y Jard] & S99 21

Class VIl / Class VIII/ | Class XI/ | Class X{f
Student / ST HETT 7 e 8 FAT11 | Fer 10
Mahesh / #g2r 65.5 70.8 68.2 75.4
Thomas / 2% 60.4 68.3 72.2 70.4
Anand / 3ieig 70.8 65.7 69.4 73.5
Sunil / eirer 80.1 74.6 79.4 86.5
Presty / difa 78.4 755 80.0 777

Which student showed consistent improvement in the marks in the all the classes? / g om 3 it W&‘ITBﬁ o 3l |
AR JUR fe@mr g2

Mahesh /'FI%'EZT
Thomas / YT
Sunil / A

® None of them /ﬁﬁ'\ﬁ'ﬂﬁgqﬁ
Correct Answer :-None of them / 98 Q BIs g1

17)
Question Stimulus :-

Echoes in sound waves are due to / w@af @ # yfaea™ 599 A {59 HRU 9 gl 82
e Refraction of waves / «fd & srudaq
e Reflection / wmEda

(37)



e Diffraction / faad=
e Interference / =fd®:ur

Correct Answer :-Reflection / WRadT

18)
Question Stimulus :-

The maximum length of a pencil that can be kept in a rectangular box of dimension8 cm * 6 cm * 2 cmis

%Wmﬁﬁwmﬁsﬁ*eﬁ*zﬁm%&m%ﬁﬁ?@mﬁ

e 2B / 243 I+

m'cm / m'@ﬁ

10-2- 10-2 -
. cm / qt

. 2‘“"Fz_ﬁcm/ 2026 gy

Correct Answer :- % ¢em / j‘fq_ﬁ'ﬂﬁ

19)
Question Stimulus :-

Rubbing our palms together is an example of/E'Flﬁ' EW 3| TSI Salgrul %
® Rolling friction /aﬁﬁ YT BT
® Sliding friction / Tt Trfor &1
* Static friction / ®fa® Tefur &1
® Fluid friction / §a1g YT B1
Correct Answer :-Sliding friction / 9df Tdur &1
20)

Question Stimulus :-

What is the 4R principle to be followed to make the environment plastic free ? / TTaRUT B WIRed Had CEIE]
& e fore 4R Ry &1 urer fepar w2

® Rethink, Retake, Refuse, Redo. / iU, ﬂ%ﬁ, ﬁ'qw, '\ﬂTﬁ'
(38)



® Reduce, Reuse, Recycle, Recover. / ﬁ?,q:\tr, 'ﬂ'q:a, fi‘ms'm, dFaR

® Remake, Recycle, Repair, Remove. / Rﬂ'eﬁ?, ﬂﬂﬁﬁﬁ, ﬁ'a'q?, ﬁ'ﬂ?

®* Remould, Renew, Reinvent, Reuse. / '\ﬂtﬁﬁ, 'qu, '\ﬂ'sﬁf, '\ﬁ'!Fr
Correct Answer :-Reduce, Reuse, Recycle, Recover. /ﬁ_eﬁj:\‘l', 'ﬂ'{ﬂ, 'ﬁ'\‘l’l%'ﬁ"ﬂ, dpaw
21)

Question Stimulus :-

Amarbel deprives the host of valuable nutrients. Hence it is called / SATIA AV Pl PIHT WD A dfed
R AT §| SR I Foarar §

U Autotroph/ﬁ"ﬂ"ﬁ
® Parasite / WReilg
® Saprotroph / 'FRITﬁ'Eﬂ
® Host/ ﬁmn:r
Correct Answer :-Parasite / GSilG

22)
Question Stimulus :-

The perimeter of an equilateral triangle ABC with AB = BC = AC = 5 cm is given
by ./ 9uaig B®ior ABC fS9# AB = BC = AC = 5 9%} 81 39®1 ufvHg 8

e 25cm /25 QHl

e 15cm/15 4t

* 10 cm /10 IHt

e 20 cm /20 9t
Correct Answer :-15 cm / 15 9H1
23)

Question Stimulus :-

Following table shows the marks obtained by five students from class VII to Class X.
Answer the following questions using the information provided. / o arfereT wen 7 9 wan
10 9P Ui BEI gRT U 3P fGErd 81 SUAS $R15 T8 BRI BT SUUNT B (A9 Jardl & w99 S|

(39)



Class VIl / Class VIII/ | Class XI/ | Class X/
Student / ST FeIT 7 AT 8 FET11 | FET10
Mahesh / #g2r 65.5 70.8 65.2 75.4
Thomas / «IT#% 60.4 69.3 72.2 70.4
Anand / 37Teig 70.8 65.7 69.4 73.5
Sunil / grer 80.1 74.6 79.4 36.5
Preety / difer 78.4 75.5 80.0 77.7

What were the average marks of Preety in all the classes? / Rkl $&ITGﬁ # Wifa & siad sie Tar A2
® 779
® 773
® 76.7
® 76.1
Correct Answer :-77.9
24)

Question Stimulus :-

The sum of 4/3 +3/5 +-2/3 +-11/5 is equal to / 4/3+3/5+-2/3 +-11/5 BI N

WER 2
—14
° 15
14

e 15

—14

e — 15

14

e —15
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Correct Answer :- 15

25)
Question Stimulus :-

The distance between Bangalore and Mysore is 150 kms. A bus takes 3 hrs to
cover the distance. The average speed of the bus is / SR I &R & 99 BT g 150
fPotfo 3| T T HI T N W F=A # 3 G2 T | I P Ma A B

* 50km/h / 50 fasoHio deT
® 15km/h / 15 fasotio/deT
* 50m/s / 50 foTilo deT
* 45km/h / 45 fasowio HeT
Correct Answer :-50km/h / 50 fdo¥lo/geT

26)

Question Stimulus :-

Bltan 60° —tan 30°) _

32

[ ]
Correct Answer :-2

27)
Question Stimulus :-

A girl weighing250 N standing on an area of 25cm?. The pressure produced is / T% TS®! forI®T a9 250 N 8
TP 25 T & W @l ¢ 1 Iaried are @

® 1000 Nm?

® 25000Nm>

(41)



® 65000Nm>
e 100000Nm?>

Correct Answer :-100000Nm?

28)

Question Stimulus :-

Excessive use of chemical fertilizers makes the soil /&IW% ISP AP BT YA Hal CAKEIG]) % -

® Basic / &nﬁu
® Neutral / EE'IT-ﬂ:[
® Helps in the growth of the plants / tl'lﬂ'lff P Iafa o e ™Il Pl %
* Acidic / 3=
Correct Answer :-Acidic / 3T

29)
Question Stimulus :-

The process that helps in the water cycle is / 98 ufshar it 5ia@ I & JgTAdT B! ©
e Regeneration / JASiH
e Transpiration / arsieTSi—
e Translocation / ®Ididx
e Respiration / 49+

Correct Answer :-Transpiration / arsiregei-

30)
Question Stimulus :-
E and F are points on the sides of PQ and PR respectively of a APQR. If EF || QR, PE = 4

cm, QE = 4.5 cm and PF = 8 cm. Find RF. / APQR & Ywiaii PQ 3R PR WX H: E 9 F fig Ry«
2132 EF || QR, PE = 4 9. QE = 4.5 9. 3fR PF = 8 ¥HI. § df RF J1d S|

® 45cm / 45 QH
® 4cm /49w
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e 9cm /99Nl
L 8cm/8'\qT-ﬁ

Correct Answer :-9 cm /9 9QHl
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